6. Zahnräder

Allgemein:

Übersetzung:


i = n1/n2 = ω1/ω2 = r2/r1 = z2/z1 = d2/d1 = M2/M1 

 

( n = Antriebsdrehzahl )

„DIN 867“ ( vgl. V – KE 6/5 ):
Achsabstand:


a = ½ ( d1 + d2 ) = ½ m ( z1 + z2 )




Teilkreis – Ø:


d = z m







Kopfkreis – Ø:

da = m ( z + 2 )






Fußkreis – Ø:


df = m ( z – 2 ) – 2 c

mit:
 c ≈ 0,1...0,3 m

Teilung:


p = π m







( m = Modul, z = Zähnezahl )
Beanspruchung:

Biegespannung:

σb = ( Ft qk ) / ( b m )



(am Zahnfuß)

( qk = Zahnformfaktor vgl. V – KE 6/7 )
Grübchenbildung:

σHC = [ 0,35 E ( Ft / b ) ( d1 + d2 ) / ( d1 d2 ) ]½ yc 





( yc = Wälzpunktfaktor = 1,76 )
Drehmoment:


M = ½ Ft d
      ( 

Ft = 2 M1 / d1 = 2 M2 / d2  

Leistung:


P = M ω




Winkelgeschw.:

ω = 2 π n / 60






( n = [min-1], ω [s-1] )

„DIN 867“ 



(
V – KE 6 / 5
(
α = 20°, m = 1/1,25/2/3/4/5...
Werkstoff



(
V – KE 6 / 8
(
σb, σHC, E

Qualitätsstufe
n a ... d

(
V – KE 6 / 9
(
bmax/m, bmax/d1 

„gerade Außenverzahnung“

(
V – KE 6 / 9
(
imax, dmin, zmin
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